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CHAPTER TEST - 6

BIO-BOTANY
Std / Dept : 12
Time Allowed : 40 MIN Max. Marks : 20
MULTIPLE CHOICE QUESTION 5*1=5

1. Ophrys an orchid resembling the female of an insect so as to-able to get pollinated
is due to phenomenon of

a ) Myrmecophily b’) Ecological equivalents
¢ ) Mimicry d ) None of these
2. Sticky glands of Boerhaavia and Cleome stupport
a ) Anemochory b ) Zoochory
¢ ) Autochory d)Hydrochory

3. A specific place if an ecosystem, where an organisi lives and performs its
functions is

a ) habitat b’) niche
¢ ) landscape d ) biome
4. Ecology is the study of anindividual species is'called
i) Community ecology ii) Autecology
iii) Species ecology iv) Synecology
a )i only b )i only
¢)iand iv only d)ii'and iii only
5—Identify~the’A, B, C and D in the given-table.
Interaction | Effects on species X Effects on species Y
Mutualism A ()
B () )
Competition | (-) C
D ) 0

a)A-(+), B-Parasitism, C=(-), D-Amensalism

b ) A-(-), B-Mutalism, C-(+), D-Competition

¢ ) A-(+), B-Competition, C-(0), D-Mutalism

d ) A-(0), B-Amensalism, C-(+), D-Parasitism

VERY SHORT ANSWER 2%2=4

6. What is Albedo effect and write their effects?

7. The organic horizon is generally absent from agricultural soils because tilling,
e.g., plowing, buries organic matter. Why is an organic horizon generally absent
in désert soils?

SHORT-ANSWER 2%3=6

8. What is mutualism? Mention any two example where the organisms involved are
commercially exploited in modern agriculture.

9. How is rhytidome act as the structural defence by plants against fire?

LONG ANSWER 1*5=5

10. What are the advantages of seed dispersal?
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